400

[ s/(s+b) ]NN <0.53

300

Events / 10 MeV/c?

100

N
o
(=]
rTTr T rrrrprrrT T

150

600

PR PR T I T T T
-200 0 200 ~ 400 600
My - Mo (MeV/c?)

nIL_n
-400

0.65<[s/(s+b)]  <0.76

Events / 10 MeV/c?
[
o
o

50

M
-400

P I I
200 400 600
My - My (MeVic?)

I I B
-200 0

[ s/(s+b) ], =0.90

80

60

40

Events / 10 MeV/c?

20

S -11.98

(on

600

P IR M 1=n
-200 0 200 400 600
My - Mpo ( MeVic?)

P B
-400

0.53<[s/(s+b) ], <0.65

2
= N
[ o
(=) o

Events / 10 MeV/c
=
o
o

50

-600 -400

1 L
-200 0 200 400 600
Mgy - Mo ( MeV/c?)

0.76 <[ s/(s+b) ]  <0.90

~N -
o N
> -
© 200
= T
o L
— -
;150_— <
= ==512
o b
1 1004

50

Cnnnflnnnflnnnfl o n ol n oS T
-600 -400 -200 0 200 400 2600
My - Mo (MeVic?)
Validation of the Parameterisation
2 oof ¥
(7)p] -
= [ © [ s/(s+b) ]m O ¥
w 0.8
X O s/(s+b)]NND N

0.7~

0.6 $

0.5

0.4

—..*I....I....I....I....I....I...

07 _ 08 0.9
Bins in [s/(s+b)]yn



